025t

WETSHEY

e

s

500

(A

089

056

00%

008

056

logl |

O & E

o i mu=g70 RETE _
- i 1 = A —
5 | | 2fTho oA
o 1,300 10

Tﬁ et © 3

BRI ey

AN S IR S o

! | w’i i 3;;;;;;;3 L i~ jjrbr/g_ﬁz-*il‘(') (*Enl‘ﬁ]\) TS_-IOZOSK'-?T_)[/d_“J I‘*E(E -

(@ S R e @
DT o e S
I R MR- RA2TF7—: B2 (ELYAXTK—6400K)

mL,L‘ 8 H n ! \

AY ) | L — ~ ™
504 |2AR HSRSa—rr—RMER - MAE - FRAE : 74 KU — (K—6015KN)
—_— - ! '

Ol g © Eom ﬂ_-])/ !

DB ¢ K PN o ‘

" S S K e

IR A N

Ow // FARTFH=805I = i L 25 _ H=950

i I-ll - == \\‘ WEASREIER e L

P E | s '

Lo FRHH=720 - | Jﬂﬁﬁﬁt}v :

g TARY S AP B

N ‘ ! At s :

b _ B . A - L ' —

b e PRSI RE 18 3 ‘ ‘

| e A B ) T - FIX#5 2 kmufggm ﬁ/()ﬁ%iﬁﬁj g sz .

' - g  H=720 H=120 i

B’E B3
ocL
056 0z 05t
00¢ '} T UILIR—FT—3 3 H=1600
v2 95€
1,150 40 1,150
1,800 40 450 2,340 699
5,329
N—FT—>3 > = . ':
AE# B N—TFT—av g // ,"I
* E ﬁ?ﬁ E M // ;I
™ 5 |
» S i :
Z 4 i ;
. Sa—b—ZARE | FARY — g .
3= / il 3 S
¥ v > [AOPENH , 2 Ya—fr—RWE: TAKRY— S
(#%B) 8 % % OPEN#H S - -
y * B g >
S N 50 420 ALV RFT7~" &
\ ) (#B8) /,/
. P
3 2
hk : 2 %Fﬁﬁaﬁg\—)b | = TR E g
ARA VT R7—: B
470 40 470
=50# 630 980 630 >50,
2,340

"., K—F—vay

‘-. N=—F—2ay AE#E

' AB#E MEMNA  RE

": ‘a AEND K ~ Y /
‘| :| I I
""""""""""""" = 80 400
g X FARY —
R FlEHL slEtiL : R ; \ | = | I |
N o _ el BIEHL |
AZABIER —_— AZRBIER N
(@it%) (Rt %) > 625 : 625
__________ REL , S RRET REE
B PR & A% 100%50 8---
__________ = / g 5
y TARY— 8
o
_ BlEHL ] BlEHL B
3 i = lj BRRE—IL
. ERERARD o
AR RASE Y A 2 BER A RIS N -
*H 1, 300 500
26 678 26 880 2 678 26
699 2,340 450 40 1,800



